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Time Allowed: Three Hours
Maximum Marks : 100

Write your roll number on question paper before start writing answers of questions. No supplementary

answerbook will be given to any candidate, hence the candidates should write their answers precisely.

Part - Ashall contain question No. 1 consisting of very short types X (Ten) questions. The candidate is required
to answer cach question in 20 words. Part - B shall contain question No.2 consisting of V (five) questions. The
candidate is required to answer cach question in 100 words. Part C shall contain 3 eassy type quesuons (one

from cach section) with internal choice.

Attempt Five question inall. All questions of Part-A and Part-B are compulsory while rest 3 question are to be
attempted from Part-C selecting one question from cach section, All question carry equal marks.

PART - A/ 91T — A
I. (i) Defineordinary Demand Function.
ARV ART Gor 1 YR IR |

(i) What do you understand by concave function?

TG BT 3 T T TS 87
(ii1) The substitution effect of price change is always and income efTect is or
et g W ufRaTE g wRa . iRy 1 AT |

(iv) Define linear homogeneous production function.
Y I(AHEY FETEH Bt by afxariye i |
(v) Define Expansion Path.
faver wer @y ufRvifaer @i |
/( vi) Define Producer's Surplus.
Ieurass o1 3AfAR® @ uRm T BRI |
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(vii)  Differentiate between primal and dual in linear programming.
W W arrer qen 8 A SR W g |

(viii)  Ingame theory, saddle point represents
o figia ¥ oo fig gwiar g

(1x)  Whatdo youunderstand by Basic Cob - Web Model?

HTROT TSIl Aiel | 19 &1 THE &7
(x) Write the Hawkins - Simon condition of Input-Output Model.
AT — fAta Hiee &7 eifer=T — |IgH+ wd sy |

PART - B/HTT — 9

2. Derive compensated demand function for q, from
u=q,"q,
given that,
Y=pq,tP:Q:

q, BT SRRS W7 Bl u=q, *q. & ST ARG 7 y=p,q, +p.q. RAT WM& |
3. Showthatutility functions U=Aq,’q," and

W= (llam 4, V‘/

are Monotonic Increasing Transformation of each other? (
IyAfrar wead U=Aq,°q, a2
wW=q,"q,
TS TR B U fee gl gRadd & Ig uigd |
4. Whatis the economic interpretation of Cobb - Douglas production function exponents (o) and (1-ct)?
B — STAG FedTe Befd & =i (o) T (1-00) BT 3Mfeh amera ar 87
5. Find the consumer surplus under monopoly if P,=20 - 4x’and MC =2x + 6
THIEHR H STHIET Bl g HaTierd Safd P,=20-4x TATMC=2x+ 68T |

6. The pay-off matrix of PlayerAis given below:

2 4724
A=
50 s
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Determine the saddle pointsolution (or player A 1 game I8 o perion 2¢ro s,

Rl A st O -afios AIan Ry g
2]
I 0 06 l
Rairdl A [31g i — [ase wer e all(Sny, afa wder ) eafdel vyen 0o areff # |

/
A

PART - C/9000
SECTION = A/ @vg M

\ T 1 ' ' - | - e 164 agfef ] ] 1
7. () ICthe utility function and budget constraintare U=q," ¢," "and 3¢, 1 4¢,= 100 respectively, then lind

~ optimum commodity purchase. Also derive second order condition, 10

Ry Su R et & are e e U =g, q," ol 3q, +4q, = 100 81 T afgager aeg g
it AN | e ar ad) el o) Pl @ |
(b) 1£U =Ly al., where Land y are leisure and income respectively, then obtain labour supply function

forwork. 10

y Al U =Ly +al, 8, el 1a0 y swerer: airer arerr oy 8, < arm @ ferg s yfe vrerst smer anfong |
OR/ arerar
Derive Slutsky equation for two commodity case using Hicksian approach and discuss important
results derived from Slutsky equation, 20
faay @ giRemIor BT FUANT B GY &1 aRloll @ Ty ween) wieyr fFafoer ahforg werr gad
farefie weagol eyt @t qof #IR |
SECTION - B/@vsg — 4

8. Define Cobb - Douglas production function and explain its propertics. Test whether Cobb-Douglas

production function is lincarly homogencous production function inaspecial case whena+ 3= 1. 20

PII—-STel FeuTe Bl bl uRwifder g <em swe) Aewend aagy | ue sifa R 6 #fa—gvera

SR B AR gy # 51 o} =1 8 @ sierfer MRaed wrea wer a9 orrar 8 |
OR/ 3rexdr

(a) Derive first and second order conditions of profit maximization by a firm and give their cconomic

interpretation, 10
V& W & T Sifdemerebwor ) w5 o e g o) it a1 Firsuor g aerr S anffe
TRCTRYT &1 fader g |
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(b)

j 9. Solve the following linear programming problem by Simplex Method. 20
| =1 i svanfeT e @1 5 Ryt IR 9§ #ife

(b)

[fthe production functionis Q = Ak” L." and cost equation is C =LP, +kP, +b, then : 10
(1) Derive long runand short run cost function.

(ii) Find outoutputelasticity of cost

TS ST B Q = AK L' T2IT ST TRl C=LP, + kP, + b, @ :

(i) TS TS BT FAT AT — I AT Bl S BT |
(ii) ST DI IRT A A1 P |
SECTION-C/9¥@vs — 9§

Maximize n=3x+2y+5z

HiAFHTH Hfg
Subject to
afe ity & X +2y +2<430

3x+22<460

x+4y <420

X,y,z=0

CR/ 3rqdr

Given technical matrix (A) and final demand vector (F) as: 10

Tfe Tt #fga (A) den aifsaw | daex (F) =1 yer &

04 0.1 50
A= RS
o7 os i

Examine the Hawkin - Simon condition for the viability of the system and calculate gross output for

each sector.
<1 yuTTel) T SqETIaT # gie A B WA a1 @) Sirg B 001 TS &5 &7 SThel ST
1A HITY |
Given: Q,=18-3P, 10
Q,=-3+4P,
P,=5
Find the market price and equilibrium price. Obtain the time path and interpret it
fear gam &:
Q,=18-3P,
Q,=-3+4P
P,=5

IR BT TAT A=A DIA ST DI | 7T T T BT qAT IFHT g A |
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(Honours Subject)
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X - Paper
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Time Allowed: Three Hours
Maximum Marks: 100

Write your roll number on question paper before start writing answers of questions. No supplementary

answer-book will be given to any candidate, hence the candidates should write their answers precisely.

Part - A shall contain question No. 1 consisting of very sh.-t-type X (Ten) questions. The candidate is
required to answer each question in 20 words. Part - B shall contain question No. 2 consisting of V (five)

questions. The candidate is required to answer each question in 100 words. Part - C shall contain 3 eassy

type questions (one from each section) with internal choice.

Attempt Five question inall. All questions of Part - A and Part - B are compulsory while rest 3 question are

to be attempted from Part - C selecting one question from each section. All question carry equal marks.
PART -A /AT — A
1 / State the features of a social good.
T AHITTE 9% B ARNans! @1 Seerd BRU |
4i.  Whatdoes the Peacock Wiseman Hypothesis advocate?
dipte argRre UREedHT a1 HRfed P 87
Atl. What is meant by Balanced Budget Multiplier?
fera gote T @ FAT AT 87
Jv. How do you distinguish between impact and incidence of tax?
FRTETE Td BRITT H 31T foid 3 3R vl 87
_v.  DefineFiscal Deficit.
PG TS BT RATT BRY |

3208-X 1 P.T.O.

{
j
i




2

yl/ Mention the items included in

/ﬁ What are the main objectives of deficit financing?

Syere] W b G SEed a1 &7

the internal debt of India.

wmﬁ$mﬁﬁmﬁm#wﬁmﬁﬁmﬁﬂﬁmﬁﬁ@aﬁﬁﬁ|

yiii. List the main sources of tax revenue of the Central Government.

%émwwm$wwwam$mwmﬁﬁﬁﬁﬁﬁaﬁﬁm|

P State the principles of Public Finance.

i R & Rigr o1 Seerd BT |
% How does fiscal policy ensure economic stability?
o i e e 2 anfefe Rerer vefE e 87
PART-B /9T — 9

Distinguish between Public Finance and Private Finance.

PRt
S faer ud P e iR BRY
ii. Explain the characteristics of a good tax system.
wap areef) R womTell @ RARTaTt wHeEd |
iii. Write anote on Optimal Budgeting.
e Sl TR ge fewoft ferfe |
iv. What is meant by burden of debt?
N B AR 3 T e £
v. Mentionthe conditions under which deficit financing is inflationary.
aqﬁﬁmﬁﬁmﬁﬁwwﬁwﬁﬁ$mﬁﬁmﬁmmﬁ$m®ﬁmﬁﬁ%
PART-C/HTT — ¥
SECTION-1/"vs — 1
Discuss the principle of maximum social advantage as advocated by Dalton. Also throw light on Prof.

Musgrave's views onit.

Wmmﬁaa@mwﬁwwzﬁﬁzﬁaﬁaﬁmﬁmwmwmma$ﬁaﬁw

UHTe SIfery |
OR / 3ar

xplain the main causes behind the rapidly increasing public expenditure. Also discuss the canons of

public expenditure.

371 ¥ 9o gV WS S $ el HRU S GHSEd | Widetie 2 @ Rigral @ W wal HR |
SECTION-I1/@vs — 11

4. Bothdirectand indirect taxes are needed to make an adequate tax system. Discuss /

e IR R OISl @ foTg Uedel Ud 219<Ger SIH1 vl @) €Y STexd 2ieh & | = HiRy |

3208-X 2



OR / 34t
What are the various forms of redemption of public debt?
0T e &1 fafi= faferdt e 87
SECTION - 111 /@vs — 11l
Present a detailed account of the tax and non tax revenue of Government of India.
TR TRPR B PR Td 1R @ AN a1 fAaveger fyaxor gqed HRa |
OR /3441

Flucidate the recent trends in public debt of Government of India.

AT AP B ATy Feo1 3 amyfre ygiedt @ faear sR
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ECONOMICS
XI - Paper

(Development Economics)

Time Allowed: Three Hours
Maximum Marks: 100
Write your roll number on question paper before start writing answers of questions. No supplementary

answer-book will be given to any candidate. hence the candidates should write their answers precisely.

Part-A  shall contain question No. I consisting of very short type X (Ten) questions. The candidate is
required to answer each question in 20 words. Part - B shall contain question No. 2 consisting of V (five)
questions. The candidates is required to answer each question in 100 words. Part - C shall contain 3 eassy
type questions (one from each section) with internal choice.

Attempt Five question inall. All questions of Part - A and Part - B are compulsory while rest 3 question are
to be attempted from Part - C selecting one question from each section. All question carry equal marks.
PART - A/ 91T —
i.  Components of Human Development Index.
Ad AR qEdie & daga @@ 8
ii.  Write the name of two economists associated with the theory ofunbalanced growth.
SrRgfer R & Rrar I TR g9 @ sl @ 7 i |
iii. What 1s vicious circle of poverty?
T $T gEEH qqT 8P
iv, What do you understand by investment criteria?

fafnT &xreY 3 g 9T |HE 20
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v. State any four economic obstacles in development.
faremrsr 3 o=t arelt fabet =R anfdfes rematt @ e wrgd) |
vi. Would you suggest Direct Productive Activities (DPA) or Social Overhead Capital (SOC) in under

developed countries for their development? Why?

ﬁ-m%ﬁ$ﬁm$mmmammﬁmwmwﬁwu@ﬁ%ﬂzﬁm
< | gie

vii. What do youmean by Net Present Value (NPVY?

: T e TR (T Sote ) W a9 7 e 27

viil. State the difference in functioning of planning commission and NITI Aayog.
AISTT AT 3R Ry s 28 srefoomy H 3R AT |

ix. Two assumptions of Solow model.

mm@aaﬁamwm|

X. Knife edge balance problem.

AT TR ATl DI TR |

PART -B /91T — §
2. Distinguish between economic growth and development.

afdfm gfg e onfifes faemy & oR iRy

4x5=20

3. In Domar Model, how does the investment play its role in demand and supply side?
W%ﬁl@?{%ﬁﬁﬂhﬂfﬂaﬁ?iﬁqﬂﬁmwmwwmﬁ?

4. What are the objectives of investment criteria and explain the social marginal productivity criteria?
ﬁlﬁﬂm&a%@ww%?wwﬁﬁ?ﬂwwmﬁﬁﬁﬁﬂmaﬁﬁm

5. Whatare the objectives of establishment of NI TI Aayog?
T SATATT Y I B SevE @ 87

6. Discuss the Indian Economic Planning objectives.
AR SR e & sl &t fade g |

3208 - XI 2
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PART-C/¥mr —

SECTION - A/ @vg — g

7. Discusscritically the Kuznet's hypothesis of economic development

20 |
GO P IR ReTer 2 TRever o sTeireiens e 2R |
OR / 312qar
_{iy" Characteristics of developing economics 10
_ii) Structural charges 10
(i) ferTeia sefaraen @) fadgan
(i) EEATTS gRads
SECTION-B/@vs — §
8. Critically examine the Solow model of economic growth. 20
3T AR & AT AT BT AT T BT |
OR /34t
(1) Problems of open economy and globalization 10
(ii) Cost- benefitanalysis 10
(i) el refeawer 3 T R ATSHIPROT ,’
(ii) TTG—eT favergor
SECTION-C/@vs — ¥
9. Explain composition of NITI Aayog and National Development Agenda (NDA). 5+15
A amarT &Y FTEE (GEA) qT TS fIBRT voier (NDA) @b fadesr S |
OR /314t
(1) Public inyestment and financing under planning. Il (())

(ii) Relevance of planning inIndia.

() |t AT sk Ao @ s fae v
(i) R H e @ urElrearn
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Time Allowed: Three Hours
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Write your roll number on question paper belore start writing answers of questions. No supplementary

answer-book will be given to any candidate, hence the candidates should write their answers precisely.

Part -A  shall contain question No. | consisting of very short type X (Ten) questions. The candidate is
required to answer each question in 20 words. Part - B shall contain question No. 2 consisting of V (five)

questions. The candidates is required to answer each question in 100 words. Part - C shall contain 3 eassy

type questions (one [rom each section) with internal choice.

Attempt Five questions in all. All questions of Part - Aand Part - B are compulsory while rest 3 question
are to be attempted from Part - C selecting one question from each section. All question carry equal

marks.
PART -A/HTT — &

. i.  Define Econometrics.
areffafer @1 g SR |

ii.  Mention the two branches of econometrics.

aedfafy & 1 wramsil @ S BRY |
iii.  What is meant by Panel Data?
Yerer arfdpgl ¥ T Y 87
What is the difference between one-tailed and two-tailed tests of significance?
e Yo udleror Ue <1 o wlerr 7 T iR g &7
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v. Whatdo youunderstand by Population Regression Function (PRF)?
T YA Bl | 31T 1 §HEd 87

—6( What is meant by power of a test?

TRIETOT & ATpd A T AT B
vii. Whatdoes the coefticient of Determination indicate?
freerae—ons @@ ggtar 82
y'fﬁ What is the role of stochastic error term in regression analysis?
ST frTeTTT ¥ YeTaRRE U o) e 87
X Whohas coined the term 'Regression'?
AT Weg B fr wrafera fama 82
\/ Distinguish between point and interval estimation.
fdig afiR 3icRTel 1A H iR W BRY |
PART-B/HIT — 9§
2. State the three main goals of econometrics.
AT & T y Fedl &1 Seor HRY|
3. What are the desirable properties of an econometric model?
U ffifces diee @t aifed faRyand @ 2?
4. Distinguish between type I and type Il error.
gorq U4 fgfra Sife o Ffeat # sfar sy |
5. Explainthe concept of level of significance.
Arefear & R 9T RN B W B |
6. Arethe following models linear regression models? Give reasons.

1 FfeRead diee WRad 7?2 T@ ST |

(a) LY, =B, +B, (;I"J'l" K,

!

(b) Y, =B, +B,; (xr )+ I,
(C) Y: =[3r +[321nx1 +p':

@ 1 =P, +P, [%Jw,

PART -C/¥HIT — 9

SECTION -A/@UVs — 3

7. Describe the stages involved in econometric research.

areffAferes oner % SfAet araversii & ==i By |

3208 - XII-B 2
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AL T Je— T

OR /34T

xplain the various measurement scales. Also point out the errors in measurement.
fafY=1 \ra= Sa7= BT THEE | A9 H 3 aren el R A yeTe STt |
SECTION-B/dYvs — ¢q

The procedure of testing hypothesis requires a researcher to adopt several steps. Discuss.

qR&GEIAT TSIeToT 2 YT & ad U Yl B = BRI T U gSdl & | = DRy |
OR /3441
Elucidate the concept of Sample Regression FFunction (SRF).
ufree! T T el (SRF) @) aeRoN #1 AR | aasisd |
SECTION-C/@vs — ¥

In the context of a 2- variable lincar model. Prove that the OLS estimators are BLUE.

fre ARTT 5 Ta R—ax YRaw wies @ sinfa OLS 3wl 31 55fa BLUEERT 8 |
OR / 3@l

From the following PRF, estimate B,, & B..

Rreifarfag PREH ¥ B, 3R B, &1 argAIfia ST |



